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NEW
2015
Part I. 3-Tier
ECONOMICS
PAPER—I
(General)
Full Marks : 90

Time : 3 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Use seperate sheet for each Half.

FIRST HALF ;: ECONOMICS THEORY—I
(MICROECONOMICS)

Group—A

Answer any five questions : 5x2

1. {a) How does demand curve of a product change with an
increase in income of consumer ?

{Tum Over)



{b) What do you mean by substitution effect ?

(c) What do you mean by short-run and long-run of a

firm?
{d) What do you mean by inferior good ?
(e} What is opportunity cost of production ?

() What is the difference between gross profit and net

profit ?
{g} What do you mean by ‘normal profit’?

(h} What are the conditions of equilibrium of a firm ?

Group—B

Answer any three questions : 3x5

2. Briefly explain different aspects of man-nature

interactions. _ 5

3. What do you mean by change in demand and change in

quantity demanded ? 5

4. Discuss the properties of indifference curve. o
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5. Discuss the characteristics of perfectly competitive

markef. ' 5

6. Explain the concepts of returns to a factor and returns

to scale. 5

7. Breifly discuss the Keynesian idea of demand for money.
5

. -

Group—C

Answer any two questions. : 2x10

8. What do you mean by price elasticity of demand ? What
are the factors on which elasticity of demand of a good

depends_? — Discuss. S 2+8

9. Explain with example the concepts of fixed cost and
variable cost. Explain the shape of short run average cost

curve, 4+6

10. What i3 economic rent ? Explain how the element of rent
exist in earnings of every factors of production. '

3+7
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11. What do you mean by monopolistic firm ? Discuss the.

equilibrium conditions of a monopolistic firm.

2+3+5
" SECOND HALF : INDIAN ECONOMICS
Group—A
Answer any five questions : o2

1. (a} What is the sectoral conpositions of GDP in India?

(b) Mention four major poverty alleviation programmes

adopted in India.

(¢} What are the causes of low productivity in Indian

agriculture ?
(d) What are the major sources of rural credit in India ?

() What are the major problems of agricultural marketing

in India?

(f) Mention some problems faced by Smali and Cottage

Industries in India.

{g) Give some features of under development.
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{h) Give some demographic features of India.

Group—B

Answer any three questions : 3x5

2. What are the causes of low rates of growth in the

manufacturing sector of India?

3. Discuss the effects of population growth on economic

growth in India.
4. Describe various estimates of poverty in India over time.
5. Explain the main ob__jectives of land reform in India.
6. What are the main functions of NABARD ?

7. Do you support the policy of disinvestment in public
sector industries of India ? Give reasons in favour of your

answer.
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Group—C

Answer any two questions : 2x10

8. Discuss the problems of Naitonal Income measurement

in India. ) 10

9, 'Diécuss the features of new industrial policy of India.
. ' 10

10. What do you mean by New Agricultural Strategy ? Discuss
the achievements_ of the New Agricultural Strategy in
India. 2+8

11. What are the causes of unemployment in India ?
What measures have been taken to solve this problem ?
6+4
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